
 Final exam practice sheet #3 Answers 

1 Evaluate 𝑥3𝑦2 − 𝑥𝑦 + 10  𝑤ℎ𝑒𝑟𝑒 𝑥 = −2, 𝑦 = 3  
 

−56 
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𝑥4𝑦7

2𝑦4𝑧0)
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8

𝑥12𝑦9
 

 

3 (2𝑥3 + 3𝑥 − 5) + (𝑥3 − 5𝑥 − 7) − (−4𝑥2 − 2𝑥 + 4)   
3𝑥3 + 4𝑥2 − 16 

 

4 (2𝑥 + 3)(𝑥2 − 3𝑥 − 4)   
 

2𝑥3 − 3𝑥2 − 17𝑥 − 12 
 

5 Find the remainder when 𝑥3 − 2𝑥2 + 10 is divided by 𝑥 + 2  
 

−6 
 
 
 
 

6 Factor:  36𝑥5𝑦7𝑧 − 18𝑥7𝑦3  

18𝑥5𝑦3(2𝑦4𝑧 − 𝑥2) 
 
 

7 Factor:  16𝑥6 − 25𝑦10  

(4𝑥3 + 5𝑦5)(4𝑥3 − 5𝑦5) 
 
 

8 Factor:  3𝑥2 + 7𝑥 − 6  
(3𝑥 − 2)(𝑥 + 3) 

 
 

9 Factor:  5𝑥3 + 15𝑥2 − 2𝑥 − 6  
 

(𝑥 + 3)(5𝑥2 − 2) 
 

10 Factor: 27𝑥3 + 8  
(3𝑥 + 2)(9𝑥2 − 6𝑥 + 4) 

 
 

 


